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0.000...0.004 | 0.03022 1.3 | 058 043 003 0.07 0.61 058 060 0.02 0.21
0.004...0.008 | 0.02997 1.2 | 060 045 0.02 0.03 0.63 059 030 0.02 0.13
0.008...0.012 | 0.02982 1.2 | 0.61 046 0.08 0.02 0.65 059 024 0.02 0.13
0.012...0.016 | 0.02947 1.2 | 0.61 047 0.03 0.02 0.68 059 024 0.01 0.16
0.016...0.020 | 0.02890 1.2 | 0.63 048 0.03 0.02 0.64 059 0.21 0.01 0.09
0.020...0.024 | 0.02862 1.2 | 064 049 005 002 068 058 022 003 0.14
0.024...0.029 | 0.02815 1.1 | 0.58 0.45 - 0.02 0.63 058 0.16 - 0.06
0.029...0.034 | 0.02755 1.2 | 060 046 0.01 0.02 0.69 058 023 0.02 0.09
0.034...0.045 | 0.02685 1.1 | 042 0.32 0.02 0.02 071 056 023 0.01 0.08
0.045...0.057 | 0.02628 1.1 | 043 0.33 0.01 0.02 073 056 0.26 0.02 0.15
0.057...0.072 | 0.02542 1.1 043 033 003 002 070 055 025 0.02 0.12
0.072...0.091 | 0.02533 1.1 | 042 0.33 0.02 0.03 074 054 030 0.03 0.13
0.091...0.114 | 0.02455 1.1 | 043 0.34 - 003 0.74 055 033 0.03 0.14
0.114...0.165 | 0.02382 1.1 | 035 0.28 0.01 0.04 0.74 053 040 0.02 0.10
0.165...0.258 | 0.02333 1.2 | 0.36 0.30 0.01 0.07 0.77 053 054 0.05 0.08
0.258...0.524 | 0.02245 14| 0.37 033 0.01 014 0.76 047 093 0.09 0.03
0.524...1.153 | 0.02153 1.8 | 054 052 003 019 093 039 12 015 0.06
1.153...3.277 | 0.02090 2.0 | 090 095 0.03 015 090 025 1.1 0.13 0.31



